## **Staverton Parish Council Asset Register:**

## **Street Lighting Schedule**

1	A425/The Orchard	NN11 6JH	Lamp 1, Pole Mount.
1	The Orchard/Rear of the Hatch	NN11 6JA	Lamp 2, Cast Column.
1	The Orchard/Old House	NN11 6JA	Lamp 3, Cast Column.
1	The Green/Horse Block	NN11 6JB	Lamp 4, Cast Column.
1	Church Street/Old Vicarage	NN11 6JA	Lamp 5, Cast Column.
1	Church Street/Daventry Road	NN11 6JA	Lamp 6, Wall Mount.
1	Church Street/Church	NN11 6JA	Lamp 7, Cast Column.
1	The Green/Manor Road	NN11 6JB	Lamp 8, Cast Column.
1	Manor Road/Well Lane	NN11 6JB	Lamp 9, Cast Column.
1	Glebe Lane/The Lodge	NN11 6JF	Lamp 10, Cast Column.
1	Manor Road/Croft Lane	NN11 6JB	Lamp 11, Cast Column.
1	Croft Lane/Village Hall	NN11 6JE	Lamp 12, Cast Column.
1	Glebe Lane/Oakham Lane	NN11 6JE	Lamp 13, Cast Column.
1			Lamp 14, NO LAMP.
1	Braunston Lane/P'Field North	NN11 6JS	Lamp 15, Galvanised Post.
1	Home Close/No.17	NN11 6JR	Lamp 16, Cast Colum.
1	Home Close/No 5	NN11 6JR	Lamp 17, Cast Column.
1	Oakham Lane/No. 3	NN11 6JQ	Lamp 18, Cast Column.
1	Oakham Lane/Vine Tree Cottage	NN11 6JQ	Lamp 19, Cast Column.
1	Daventry Road/Windmill Lane	NN11 6JH	Lamp 20, Cast Column.
1	Glebe Lane.Corner Cottage	NN11 6JF	Lamp 21, Cast Column.
1	The Woodlands/A425	NN11 6JN	Lamp 22, Galvanised Post.
1	Glebe Lane/Braunston Lane	NN11 6JF	Lamp 23, Cast Column.
1	Windmill Lane/Sub Station	NN11 6JL	Lamp 24, Cast Column.
1	Croft Lane/The Croft	NN11 6JE	Lamp 25, Galvanised Post.

1	Daventry Road/Church Fields	NN11 6JA	Lamp 26, Wall Mount.
1	Daventry Road/Well Cottage	NN11 6JH	Lamp 27, Cast Column.
1	Manor Road/Farriers	NN11 6JD	Lamp 28, Pole Mount.
1	Braunston Lane/P;Field South	NN11 6JG	Lamp 29, Galvanised Post.
1	A425/Hatch	NN11 6JH	Lamp 30, Galvanised Post.
*	Daventry Road/Allotments	NN11 6JH	Lamp 31, Pole Mount.
1	A425/Westwood	NN11 6JH	Lamp 32, Pole Mount.
1	Daventry Road/No. 1	NN11 6JH	Lamp 33, Cast Column.
1	Windmill Gardens/Silver Birch	NN11 6DD	Lamp 34, Cast Column.
1	Windmill Gardens/Kimmeridge House	NN116DD	Lamp 35, Cast Column.
1	Church Street/New Vicarage	NN11 6JA	Lamp 36, Cast Column.
* Removed in November 2014			

<sup>\*</sup> Removed in November 2014

Summary;- Lamp

24 Cast Columns 2,3,4,5,7,8,9,10,11,

2,13,16, 17, 18,19, 24@ £2,000 each£48,000 20,21,23,24,27,33,34,35

& 36.

3 W'Pole Lamp 1,2 & 32 4@ £750 each £ 3,000

Mounted

2 Wall Mounted Lamp 6 & 26 2@ £750 each £ 1,500

5 Galv. Columns Lamp 15,22,25,29 & 30 5@ £1,000 each £5,000

35 Lamps in total £57,500

#### **Buildings**

- 1 Brick Built Field Barn with Arched Galvanised Corrugated Roof & pair of Wooden Double Doors. NN11 6JS £14,000.00p
- 1 Brick Built Bus Shelter/Dav. Rd/No.3. /6JH £4,000.00p
- 1 Glass/Ali. Bus Shelter/Dav. Rd/Op.No.3. /6JH £1,900.00p

### **Litter Bin Schedule**

1 Lamp 4 Post Mount'd. The Green/Horse Block. NN11	6JB
--	-----

1 Lamp 23 Post Mount'd. Glebe/Braunston Lane. NN11 6JF

1 Wall Mount'd. Bus Shelter/Daventry Road/West. NN11 6JH

1 Free Standing. Manor Road/Phone Box. NN11 6JB

1 Free Standing. A425/Opposite Garage. NN11 6JH

1 Free Standing. Playing Field/North. NN11 6JS

1 Free Standing. Playing Field/East. NN11 6JS

Free Standing. Daventry Road/Pocket Park. NN11 6JH

2 Lamp Post @ £120.00p/each £240.00p

Mounted.

1 Wall Mounted. @ £120.00p/each £120.00p

5 Free Standing. @ £175.00p/each £875.00p

8 Bins in total (fixed).

£1,235.00p

#### **Dog Bin Schedule**

Pedestal Mount'd. A425/The Gardens.	N11 6JH
-------------------------------------	---------

Pedestal Mount'd. The Green/Church Street. NN11 6JB

1 Pedestal Mount'd. anor Road/Phone Box. NN11 6JB

Pedestal Mount'd. Braunston Lane/Playing Field. NN11 6JS

1 Pedestal Mount'd. Braunston Lane/Home Close. NN11 6JS

<u>5 Bins in total (fixed)</u> @ £150.00p £750.00p

#### **Bench Seat Schedule**

1 The Green/Horse Block. NN11 6JB  $\pounds 750.00p$ 

1 Daventry Road / Opposite NN11 6JH £750.00p

Garage.

1 Daventry Road/Pocket Park. NN11 6JH £750.00p

3 Bench Seats in total (fixed).

£2,250.00p

### **Sundry Street Furniture**

1 Circular Wooden Tree Seat. NN11 6JB £1,900.00p

1 Public Notice boards. NN11 6JB £500.00p

1 Public Notice Board. NN11 6JF £500.00p

1 Pedestrian Gate. NN11 6JH £50.00p

£2950.00p

# Playing Field Play Equipment Schedule NN11 6JG

1	4 Gang Swings Frame and Safety Surface.	£2,762.00p
---	---	------------

2 Goal Posts. £220.00p

1 Climbing Frame and Safety Surface. £2,725.00p

1 Elephant Mobile. £930.00p

1 Horse Mobile. £930.00p

1 Whirly Bird Roundabout and Safety Surface. £1,900.00p

1 Games Arana. £1,500.00p

1 Non Bump See Saw and Safety Surface. £1,886.00p

1 Embankment slide £1,925.00p

1	Galvanised Cycle Rack.	£90.00p
3	Picnic Tables.	£360.00p
2	Public Bench Seats (various)	£600.00p
1	Field Gate	£180.00p
1	Pedestrian Gate and Safety Barrier	£550.00p

## above are fixed

#### <u>END</u>